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lg o0 M=V | &
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Inf725j:= A= 39.963;
qg= 16;
T0 = 160;
T = 160
By0 = ((T0/931.5/R)~2+2« (T0/931.5/A))~.5;
By = {{T/931.5/A)~2+2« (T/931.5/4))~.5;
Brhol = 3.107 =« 8y0+«A /q;
Brho=3.107%*By+A/qa
z0 = G;
zl=1;
z2 = 27;
23 =37;
& = 405
Bl =0.
B2 = PixBrho0/ (22 ~z1)
B3 = Pi*Brhol/ {23 -~ 32)
B4 = Pi%Brhol/ (=4 - 23)
BO[z_J] =Bl+1f[z0sz=<=z1, 1, 0] +
B2%«If[zls2z=<22,1, 0] +B3xIf[z22z=523, 1, 0] +B&+x1f[=n3 ==z, 1, 0];
Ploti{BO{z], {z, =0, 24 + 1}, PlotPoints > 300];
x0=1.0
zp0 = 0.000
¢0=0
zi=z0-1
zf=z4+1
aol = NDSolvel[{x'{z] ==piz],
=p' [2] = - (B0[a] /2 /Brho) ~Zxx[z], ¢ [a] = ~BO[x] /2 /Brha, x[zi] = 20,
xplzil = xp0, ¢[zi] = ¢0}, {x, =p, ¢}, {=, zi, zf}, MaxStepSize > .01,
MaxSteps » 110000] ;
xx{s_] ==x{z]1 /.a0l;;
xzxpfz ] =xpiz] /. aol;
¢afz_1 =¢[z] /. aol;
Z[z_] =xx[z] *Co[d¢[z]]:
Y[z_] = -xx[z] +5in[é¢[21];
Plot[xxiz], {2, 21, 2£}];
Plot[xx[z], {z, 52 - .1, z&+.1}];
Plot[¢d[z], {z, =i, z£}1];
Plot{{Z[z], ¥[z]}, {5, =i, 2£}];
xxjz4}
xxp[z4 - .01]
Out[728j= 160 < =
out[732]= 0.720278 ™ @
out[7381= 0. %‘g éj‘__,,v' ol év
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